
ERRATA FOR ICRP PUBLICATION 66 

The following information was in error in Publication 66 (Annals of the ZCRP, 24, l-3): 

Page 35, Table 10, Page 105, Table 24, and Page 114, Table 31. The assigned fraction for ET2 
should be 0.998, not 1 as given. 

Page 239, Paragraph D24. 1=0.0172 pm should be il=O.O683 pm. 
Page 239, Paragraph D25. The value of p, the dynamic viscosity of air, should be 1.88 x 10e4 

Poise, not 1.90 x 10m4 Poise. 
Pages 243 and 244. The captions to Figures D.4 and D.5 are correct, but the figures need to 

be switched. 


